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Risposte

1. 9.75

2. 4.83

3. 6.2

4. 3.7

5. 2.75

6. 4.65

7. 8.7

8. 6.35

9. 5.61

10. 9.8

11. 2.12

12. 3.58

13. 2.6

14. 6.88

15. 2.26

Trova il valore di X per ogni cifra. Ogni cifra è in centimetri (cm). Non in scala.

1) area = 68,5425 cm2

7.03

X

2) area = 46,5612 cm2

9.64

X

3) area = 39,246 cm2

6.33

X

4) area = 11,285 cm2

3.05

X

5) area = 23,8425 cm2

8.67

X

6) area = 25,668 cm2

5.52

X

7) area = 78,126 cm2

X

8.98

8) area = 17,145 cm2

X

2.7

9) area = 33,099 cm2

5.9

X

10) area = 72,52 cm2

7.4

X

11) area = 15,688 cm2

7.4

X

12) area = 29,356 cm2

8.2

X

13) area = 11,96 cm2

4.6

X

14) area = 66,048 cm2

9.6

X

15) area = 6,1472 cm2

2.72

X
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